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Pro funkci f(x) uréete Taylorav polynom stupné 3 v bodé a :

L. ) 14.
f(f):%, a=0. f(z)=¢" cosz, a=0.
2. 15.
fl@)=e", a=0. fl@)=va+1, a=0.
3. 16.
fx)=2In(z—1), a=2 fx)=ze*, a=0
4 17.
f(x):cos(xfo), a=0 flx)y=ze"1 a=1
) 18.
f(x) = sin (1—3:2), a=1 fx)y=ze™" a=1
6. 19.
fx)=lnz, a=1 f(w)zcos(x—x2>, a=1
7 ) 20.
f@):x;r} a=0 flz)=Inva24+1, a=0
8. 21.
1- _ arotg (). a=0
@)= 57 a=-1 f(x) = arctg ("), a
22.
Y @)= VETE, amt fa) =sin(1—e"), a=0
10 23.
f@)=e ", a=1. f@) =aln(a?), a=-1
11. 24.
f(a:):ln(1+:r2), a=0. f(z) = arctg (1 —e®), a=0.
12. 25.
f(x) =6zsin(z+1), a=—1. f($)=1n<4—3x2), a=1.
13. 2.

f@)=(1-2)n(z+1), a=0. f(@) =sin (s2), a=0.
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